Operaciones con Nimeros Vigesimales (B)

J27Byg

X JD9g

9BCI,y

X CQ()

AJBO9y

X E99

4 JEFA699|TEgg

HF8Go

X F20

Calcule cada respuesta.

88289

X 4Eq

23IGE20’620

H47FG20|9220

JC2Ay

X 7J20

6A8I,

X 7320

HOBDsy

X 1E9q

3JFG345|AGag

21C8755|2929

6CGDGGo|Adog

1C81840|2249

CCGO049| 1599

1BEy
X 8Coyp

4DTT4040|EAs

AH56849)|47 90

A7BE664|BEs
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Operaciones con Nimeros Vigesimales (B) Respuestas

J27Byg
X JD9g

TFDE7 34

9BCI,

X CQ()

5EJEGy

AJBO9y

X E99

71C9J09

4 JEFA699|TEgg

56D99

HF8Go

X FQ()

D6BCOq

Calcule cada respuesta.

88289
X 4Eq

1JA35Cy

23IGE20’620

769940

H47FG20|9220
1HGI9

JC2A4
X 7..]2()

7FH7HAy

6A8I,

X 732()

26CDCEy

HOBDsy
X 1E9g

19E5G29g

3JFG345|AGag

77F 4o

210875992920
GJF54

6CGDGGo|Adog

D094y

1C81840|2249

SH6E,

CCGO049| 1599
A24Gy

1BEy
X 8Coyp

DCC8sy

4DTT4040|EAs
69BCy

AH56849)|47 90
12745

A7BE664|BEy
HEGJ9
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